NOREEN MANAGERIAL ACCOUNTING FOR MANAGERS 2E
Practice Exam – Chapter 4
Print these pages. Answer each of the following questions, explaining your answers or showing your work, as appropriate, and then compare your solutions to those provided at the end of the practice exam.

1.
The following is Shaffer Corporation's contribution format income statement for last month:

	Sales 
	$2,800,000

	Less variable expenses 
	 1,680,000

	Contribution margin 
	1,120,000

	Less fixed expenses 
	    780,000

	Net income 
	$  340,000



A total of 56,000 units were produced and sold last month. The company has no beginning or ending inventories. 

Part (a) What is the company’s breakeven in sales dollars? 

Part (b) How many units would the company have to sell to attain target profits of $550,000? 


Part (c) What is the company’s margin of safety?


Part (d) What is the company's degree of operating leverage? 
2.  Data for Hudson Corporation are shown below:

Per Unit 


Percent of Sales
Selling price ................................ $80




 100%

Variable expenses ...................... 
52 




   65
Contribution margin .................... $28 




 35%

Fixed expenses are $30,000 per month and the company is selling 1,500 units per month.

(a) The marketing manager believes a $6,000 increase in the monthly advertising budget would increase monthly sales by $12,000. Should the advertising budget be increased?  Show calculations to support your answer.
(b)  Refer to the original data. Management is considering using a higher quality component that would increase the variable cost by $3 per unit. The product manager believes the higher-quality product would increase sales to $1,800 per month. Should the higher-quality component be used?
Show calculations to support your answer.
3.
Garrett Company sells hand-crafted furniture. One item it sells is a small table that sells for $30 per unit. The variable costs related to the table, including product and shipping costs, are $18 per unit. Total fixed costs for the company are $60,000. Assume the tables are the only product the company sells this year and draw a CVP graph to represent the company’s sales and expenses. From this graph, compute the approximate breakeven point in dollars and units.
NOREEN MANAGERIAL ACCOUNTING FOR MANAGERS 2E
Practice Exam – Chapter 4 Solutions
1.
Part (a) Solution (Learning Objectives 1 and 6):

Determine the contribution margin (CM) ratio:
Contribution margin ÷ Sales = CM ratio
$1,120,000 ÷ $2,800,000 = 40%
Determine breakeven in sales dollars:

Total fixed expenses ÷ CM ratio = Breakeven in sales dollars

$780,000 ÷ 40% = $1,950,000  


Part (b) Solution (Learning Objective 5):

Determine the contribution margin (CM) per unit:
Total contribution margin ÷ Number of units sold = CM per unit

$1,120,000 ÷ 56,000 units = $20 per unit

Calculate the unit sales required to achieve the targeted profit:

(Fixed expenses + Target profit) ÷ CM per unit = Required units

($780,000 + $550,000) ÷ $20 per unit = $1,330,000 ÷ $20 = 66,500 units


Part (c) Solution (Learning Objective 7):

Determine the margin of safety:
Margin of safety = Total sales – Breakeven sales
Margin of safety = $2,800,000 - $1,950,000 (part (a)) = $850,000


Part (d) Solution (Learning Objective 8):

Determine the degree of operating leverage:

Degree of operating leverage = Contribution margin ÷ Net income

Degree of operating leverage = $1,120,000 ÷ $340,000 = 3.29
2.
Solution (Learning Objective 4):

(a) Increased sales x CM ratio = Incremental contribution margin (CM)

Incremental CM – Incremental fixed expense = Change in income 

Incremental CM
$12,000 x 35% =

$4,200

Incremental advertising expense

    (6,000)




Decrease in income




 


   ($1,800)




The advertising budget should not be increased as it will lead to an overall $1,800 decrease in income.
(b)  The $3 increase in variable costs would decrease the unit contribution margin by $3—from $28 down to $25.

Expected total contribution margin with higher-quality component:

1,800 units x $25 per unit






  $45,000

Present total contribution margin:

1,500 units x $28 per unit  







 42,000
Increase in total contribution margin  


$ 3,000
The higher quality component should be used as it results in an overall contribution margin increase of $3,000.
3.
Solution (Learning Objective 2):
On a CVP graph, the vertical axis is typically dollars, and the horizontal axis shows number of units. One line is drawn to represent fixed expenses (a flat line since total fixed costs do not increase as volume increases.) Another line is drawn to represent the revenues (number of units times the selling price per unit) and another line is drawn to represent expenses (number of units times the variable expenses per unit, plus total fixed expenses). The amount of fixed expenses will be shown as the intercept on the vertical axis. Thus, with a sales price of $30/unit, variable costs of $18/unit, and fixed costs of $60,000, the CVP graph would appear as follows:
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